Use of 'Is' and 'Are’

When you talk about plurals, the 'is' in a sentence changes to an 'are'

EXAMPLE ----> There are a lot of chairs

Write the sentences below with the correct ‘are’ and ‘is’ in the sentence.

There (are, is) lots of cucumbers on the table.

e Stacy (are, is) very naughty at school.

e The team (are, is} very good at playing basketball.

e The people (are, is) very nice to talk to.

e The cherries (are, is} very delicious.

e The cakes (are, is) full of chocolate buttons and sticky sweets.

¢ Lots of chocolate (are, is} bad for your heaith.
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Correct the sentences below, looking at the 'are' and 'is'.

1)} There is lots of chairs.

2) There is many pencils.

3} There are a pen.

4} There are one man.

5) There is five birds.

6) There is lots of monkeys.

7) There is many parrots.

8) There was lots of parrots and they is very good.

9} Lots of pencils is being used by the students.

10) There are a pencil on the table.
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